MC K42 TECHNICAL SPECIFICATIONS

Ih % br i B 7E FE 5 b 2 2% 5B = L P fﬁr};fg%ﬁ 0z i®
g iﬁfg WAt E AR xﬂ( % IR AP Womn WERE BakR CHhw e
Output leC Rated  Full-load  Efficiency Full-load Locked Locked Break  Starting Mt
frame Lo MR Of full oad factor Rotor  Rotor  Down capacitor Weight
n u (o]
MC MY MLs T B e 2 Gn T R R
E RI E S 2-POLES
= ==~ = 0.18 71 2750 1.89 60 0.72 6.3 3.0 75 6.2
K BRIEIE TR B AL I
0.25 71 2770 2.4 64 0.74 6.25 3.0 18 75 6.3
SINGLE PHASE TEFC ALUMINUM 037 80 2800  3.36 65 0.7 6.25 28 18 100 83
0.55 80 2810 4.65 68 0.79 6.24 2.8 150 9.0
INDUCTION MOTORS 1.8
0.75 90S 2820 5.94 70 0.82 6.1 25 18 200 12.5
1.1 90L 2820 8.37 72 0.83 7.2 25 18 300 14.0
1.5 100LA 2830 11.1 73 0.84 7.2 25 18 400 22.5
. - 2.2 100LB 2830 15.7 75 0.85 7.65 2.2 2%300 25.5
IXLEER |2 SRR TSR AN 18
ML= ER 2 X 5 3.0 112M 2840 21.1 76 0.85 7.1 2.2 18 2%300 26.0
MCEBEEMERTG 4-POLES
MYEEE@%%«*Q I X 0.12 71 1350 1.88 50 0.58 4.8 3.0 18 75 6.1
MLEIMCRIITBLOAX , BERNBATFEE: Vg  WEEN.
. _ - 0.18 71 1370 2.49 53 0.62 4.8 2.8 75 6.7
MYRFIEBEA M AFRENEERS , WKAIAIKER. 1.8
0.25 80 1400 3.11 58 0.63 4.8 B 18 100 8.9
WON DERKAE B4 S 45 ER EhATAS 1 0.37 80 1410 4.24 62 0.64 5.0 2.5 18 100 9.6
- [TIZN R FERTmA IR, , kR , K, BEVR , Bl & 0.55 90S 1420 5.49 66 0.69 5.2 2.5 18 150 12.5
I, g?;fégﬁ%%;%g%;ﬁ — 0.75 90L 1420 6.87 68 0.73 5.5 2.5 18 200 15.0
- IP55 = ’ £ i 7]111 ' °
- BREERE220V, FESAEES50Hz, T 100LA 1430 9.52 71 0.74 6.4 2.5 18 400 23.0
ERRM  HRIRE-20°C-40°C |, i8R <1000, 1.5 100LB 1430 12.5 73 0.75 6.4 2.5 1.8 400 27.0
- REBLEICALL, 2.2 112M 1440 17.8 74 0.76 6.8 2.2 18 2X300 35.0

MY FAREHE TECHNICAL SPECIFICATIONS

[} | > g 5 ;- I =)
22 NOUNTING ARRANGEMERIS B g BUERE ME hERH S PR BERN cunm A

Basic type Derived types of construction Output *IFLE’QLL Rated Full-load  Efficiency FL:)”*OBd %Técked ﬁml:(’)ilfiﬁﬁ "‘Bur;ea‘k‘ ~ Running N
11\:53 ‘ IMV5 IM V6 IM B6 IMB7 1M B8 B K Frame - CL|Jr:(rZr)-It %Of?:/lol load faocvgg: Soter ot Sl CETHITE e
IM 1001 IM 1011 IM 1031 IM 1051 IM 1061 IM 1071 w r/min 220V Current Torque Torque (452‘/) kg
':m @ Ij :@ @ [:H: 2-POLES
' 0.09 56 2730 0.79 56 0.92 3.2 0.5 1.7 6 3.2
IM B35 IM V15 IM V36 ~ * G
Im2001 IM 2011 IM 2031 IM 2051 IM 2061 IM 2071 0.12 56 2730 0.99 60 0.92 3.5 0.5 1.7 6 3.4
:EB L‘:j FL-F :ED @}: H:H: 0.18 63 2740 1.37 65 0.92 BT 0.4 1.7 6 3.9
0.25 63 2740 1.87 66 0.92 3.7 0.4 1.7 8 4.4
e . . . . . 0.37 71 2750 2.73 67 0.92 3.7 0.35 1.7 12 6.2
1M 2101 m2i11 S w2 M 0.55 71 2760 3.88 70 0.92 3.9 0.35 1.7 16 6.3
:[D] @ :EU @ iﬂ: 0.75 80 2780 5.15 72 0.92 3.9 0.33 1.7 30 8.3
1.10 80 2790 7.02 75 0.95 4.3 0.33 1.7 35 9.0
e Rl T 1.50 90S 2800 9.44 76 0.95 4.8 0.30 1.7 40 13
R im0 0t 2.20 90L 2800 13.7 77 0.95 4.8 0.30 1.7 40 15
:EB Q 4-POLES
0.06 56 1330 0.61 50 0.90 3.3 0.45 17, 6 572 95
IM B14 IM V18 IMV19 0.09 56 1340 0.87 52, 0.90 29 0.45 1.7 6 3.4
IM36E e IMaesL 0.12 63 1350 1.06 57 0.90 3.2 0.40 1.7 6 4.0 =
:D @ 0.18 63 1360 1.54 59 0.90 2.2 0.40 1.7 8 4.5 -
0.25 71 1370 2.02 61 0.92 3.4 0.35 1.7 12 6.1 =
b L AT RS TS AR R 2t 0.37 71 1370 2.95 62 0.92 3.4 0.35 1.7 16 7.0 §
1)E(NZESD , IEC60034-7ThkBTEY, 0.55 80 1380 4.25 64 0.92 345 0.35 1.7 25 9.5
2 %IMV6,IMB6,IMBBZZE 5= , RRIDIIRHIA, 0.75 80 1380 5.45 68 0.92 3.7 0.32 1.7 30 10
1.10 90S 1390 7.41 71 0.95 4 0.32 1.7 40 13
1.50 90L 1400 9.83 73 0.95 4.6 0.30 1.7 40 16

WONDER



ML AR EUIE TECHNICAL SPECIFICATIONS AMEEZ R B MOUNTING AND OVERALL DIMENSIONS

Tk g WEREE N goe  hmmy OB GHEUL JARE B B g

2 R VIE 45 FR 7%
Output *{M Rated Full-load Efficiency Full-load  [ocked  Locked Break  Starting Running Net

speed  current % Power Rotor Rotor Down Capacitor capacitor Weight = Y | KK |<—-|X

f
A) %Offullload "' cipent  Torque  Torque  (250v)  (450v)

Frame In(
kw r/min 220V

— I |
© O [a)
2-POLES e B w <
0.75 80 2800 4.94 75 0.92 5.7 1.8 1.7 100 25 8.3 5 lee—— - - - - & B .__.
1.10 80 2800 6.7 78 0.9 5.6 1.8 1.7 150 2 9.0 — ? *
. 75 .95 . . . 5 5 ) :
[ [+ - ©
Eni| G B K
1.50 90S 2800 9.2 78 0.95 6.0 1.7 1.7 300 40 12.5 L ‘ & ‘
i |
220 90L 2800 12.8 82 0.95 6.2 1.7 1.7 300 40 14.0
y
3.00 100L1 2820 17.3 83 0.95 6.4 1.7 1.7 400 55 205 BS o0 v KK
i
=4 — —
3.7  112M 2820 211 83 0.96 6.5 1.7 1.7 400 50 26 g i
0dI—
4-POL ES S | 2 e . LY
0.55 80 1400 3.88 70 0.92 5.4 1.8 1.7 100 25 8.9 |
0.75 80 1400 522 71 0.92 5.5 1.8 1.7 150 30 9.6 ELT ]
1.10 90S 1400 6.93 76 0.95 57 1.7 1.7 200 35 13
1.50 90L 1400 9.2 78 0.95 6.0 1.7 1.7 200 40 16 B35 - Y 2
2.20 100LA 1410 13.2 80 0.95 6.1 1.7 1.7 400 50 23 F SN E e -
o Hod= T
3.00 100L B 1420 17.3 83 0.95 6.4 1.7 1.7 400 50 27 ; R
U - - i ee— SR S,
3.7 112M 1430 211 83 0.96 6.5 1.7 1.7 400 50 35 7 i ] |
D _E:|— m__/ '
N |
|_ 1
BL A 5 %A AT 4T R S
Frame Flange Mounting dimensions(mm) Overall dimensions(mm)  XxYxZ(mm)
Bl size A AB B CD DH EF G H K L M N P S T GA
56  FF100 90 110 110 96 71 36 9 M4x12 203 7.2 56 7 M18x1.5 193 100 80 120 7 3 10.2 97X124x46
63 FF115 100 122 122 99 80 40 11 M4x12 23 4 85 63 7 M18%x1.5218 115 95 140 9 3 12.5 97X124x46
71 FF130 112 136 138 110 90 45 14 M5x12 305 11 71 7 -M18x1.5251 130 110 160 9 3.5 16 111X128x50
96 80  FF165 125154 157 152 100 50 19 M6X16 40 6 15.5 80 10 M20X 1.5 286 165 130 200 12 3.5 21.5176X126x68 97

90S FF165 140174 175 158 100 56 24 M8X19 50 8 20 90 10 M20Xx1.5 335 165 130 200 12 3.5 27 176X126x68

90L FF165 140174 175 158 125 56 24 M8X19 50 8 20 90 10 M20X1.5 350 165 130 200 12 3.5 27 176X126x68
100L FF215 160 194 196 177 140 63 28 M10X22 60 8 24 100 12 M20X1.5 422 215 180 250 15 4 31 176X126x68
112M  FF215 190 224 220 184 140 70 28 M10X22 60 8 24 112 12 M20X1.5 434 215 180 250 15 4 31 176X126x68




98

AN Z %R B MOUNTING AND OVERALL DIMENSIONS

LB 5

Frame
size

56
63
71
80
908
90L
100L
112M

B14

%)
S| T
9 o)
D
B34 Y |k«
L : =
N i —————
o d—
S — SEEE———————

size A AB AC AD B C D

ZH R T
Flange Mounting dimensions(mm)

DH

EF G H

FT65 90 110110 96 71 36 9 M4X12 203 7.2 56 0£1.0 7 M18X1.

FT75 100122122 99 80 40 11 M4X12 234 85 63 0£1.0 7 M18X1.

FT85 112136138 110 90 4514 M5X12 305 11

71 0£1.0 7 M18X1.

FT100 125154157 15210050 19 M6X16 40615.5 80 0£1.510M20X1.

FT115 140174175158 10056 24 M8X19 508 20 90 0+£1.510M20X1.

FT115 140174175158 12556 24 M8X19 508 20 90 0+1.510M20X1.

FT130 160194196177 14063 28 M10X22608 24 1000£1.512M20X 1.

FT130 1902242201841407028 M10X22608 24 1120+1.512M20X 1.

AR R A)
Overall dimensions(mm) XxY<Z(mm)
L M N P S T GA

5193 65 50 80 M5 3 10.297><124><467
5218 75 60 90 M5 3 12.597X124X 46
5251 85 70 105 M6 3.5 16 111X 128X50
5286100 80 120 M6 3.521.5176X 126X 68
5335115 95 140 M8 3.5 27 176X126X 68
5350115 95 140 M8 3.5 27 176X126X 68
5422130110160 M8 4 31 176X126X68
5434130110160 M8 4 31 176X126X68

FEEENHLAEL4 IR MOTOR SPARE PART LIST/DRAWING

HLEE 5

Frame

size

56
63
71
80
90
100
112

Driving End
Bearings
6201 2RS/C3
6201 2RS/C3
6202 2RS/C3
6204 2RS/C3
6205 2RS/C3
6206 2RS/C3
62062RS/C3

1.B3 ims=
2.B14ix=

3.B14¥IBSEF

453F
5.B3EF
6.4
7 Jig
8. i
9.5gha

10. KRz SE R A

11. 928
12. Kt
13. f}
14. %

Non driving End
Bearings
6201 2RS/C3
6201 2RS/C3
6202 2RS/C3
6204 2RS/C3
6205 2RS/C3
6206 2RS/C3
6206 2RS/C3

15. X5
16.EEX ER)1R2
17 FLiR R B
18.BEERHD
19. EEBL& R
20. HIIRE

21. BB REE

22 |EARE

23 158

24, REWRY

25 [[EhEa a8
26.B5x=

27 EERLaRYe

®12X $22X5
$¢12X $22X7
d15X d25 X7
$¢20X $30X7
$25X d»37X7
G¢30X $42X7
®30X $42X7

99




